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QUESTION 1

Which one of the following choices will assign the current package Libraryl1?
A. package::Library1;

B. Libraryl::package;

C. package(Libraryl);

D. package Library1;

Correct Answer: D

QUESTION 2

Consider the program code in the attached exhibit.

print (multiply(5, 10))

sub multiply
{

b

What is the result of executing this program code?

$_[1] = $_[2];

A. The code will output the following: 50

B. The code will output the following: 0

C. The code will output the following: 5

D. The code will output the following: multiply(5, 10)

Correct Answer: B

QUESTION 3
Consider the following program code:
$i = 15;

LOOP: for(; $i
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if ($i % 2)

{

next LOOP;

}

print($i );

}

What is the result of executing this program code?

A. The code will output the following: 1524 6 8 10 12 14 16 18 20 22 24
B. The code will output the following: 15 17 19 21 23 25

C. The code will fail at line 2 because $i is not initialized.

D. The code will output the following: 16 18 20 22 24

Correct Answer: D

QUESTION 4

Consider the following lines of code:
$_="This is a test";

SN TNs* ([N 1%)/$2 $1/;

print;

What is the output of these lines of code?
A. h Tis a test

B. is This a test

C. i Thiss a test

D. his T is a test

Correct Answer: B

QUESTION 5
Consider the following code:

$ ="New York";
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@array?2 = split(//);

What is the value of $array2[0] after the code is executed?
A

B."New"

C. "NewYork"

D."N"

Correct Answer: D
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